Magnitude [cts/cts]
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H1:PSL-ISS PDB REL OUT DQ/A TF

RIN chan/Input RIN TF at the time of an intensity injection

[legend]/Hl PSL ISS SECONDLOOP RIN_ OUTER OUT DQ
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H1:PSL-ISS PDA REL OUT DQ/A TF

H1:IMC-IM4 TRANS NSUM OUT DQ/ATF
H1:LSC-REFL A RIN ouT DQ/A TF
H1:LSC-REFL B RIN OUT DQ/A TF

| —— H1:LSC-POP A RIN OUT DQ/A TF

. H1:0MC-DCPD SUM OUT DQ/ATF
= H1:ASC-X TR . A NSUM OUT DQ/ATF

| = H1:ASC- X TR B NSUM OUT DQ/ATF

— H1:ASC-Y TR A NSUM_OUT DQ/A TF
= H1:ASC-Y TR B NSUM OUT DQ/ATF

| = 0 595 +- 0.007 CARM pole f1t to POP/ISS RIN TF

——————————————————————————————————————————————————————————————————————————————

______________________________________________________________________________

——————————————————————————————————————————————————————————————————————————————

——————————————————————————————————————————————————————————————————————————————

——————————————————————————————————————————————————————————————————————————————

—————————————————————————————————————————————————

___________

________________________________________

——————————————————

_________________________________________

_________________________________________

——————————————————————

————————————————————————————————————————————————————————————————————

———————————————————————————————————————————————————————————————————————

101

Frequency [Hz]




